9 JEE Main 2015 (Offline)
MCQ (Single Correct Answer)

Let y(x) be the solution of the differential equation

(z logx) % +y =2z logz,(x > 1).Then y(e) is equal to :
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Explanation

Given, % + (#ﬂ)y:2

I.F.= e‘rr'lvdz — glosllosz) log x

ylogz = [2logzdz +c

ylogz =2[zlogz —z| +¢

Pitz=1,y0=-2+4+c=c=2

Putzx=e

yloge =2¢e(loge —1)+ec=yle) =c=2

Q.Let f : [ — O be a differentiable function with f(0) = 0. If y = f(x) satisfies the differential equation % = (2+ 5y)(5y — 2), then the value of

limg ;oo f(x) is [JEE(Advanced)-2018,3(0)]
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= In|2X 2‘=20(x+c) G f(x}=§

Now, ¢ = 0 as f(0) = 0



